
Standard and nonstandard normal distribution

Lat us have normal random variable s for which it is E [s] = 0, D [s] = 1. Its distribution is
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The transformation equation from standard s to nonstandard x variable with E [s] = µ, D [s] =

σ2 is

x = µ+ σs

with back transformation

s =
x− µ
σ

(σ performs contraction/dilatation and µ shift).

The nonstandard random variable has the distribution
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The transformation woks like this
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Remark

Interval for µ is (
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as the statistics is x̄ with expectation µ and variance σ2
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